24 (8th) File -10
MODEL TEST PAPER -5

Additive inverse of F is

CLASS - 8th
SUBJECT - Mathematics O 3 (i) 95
Time : 3 hours M.M. : 100 9
1. | gea erfrard ¥ g
All question are compulsory 2. FHIHO y+3 = 10 H R T
. Y9 93 1 5 @uel ¥ fauifaa foman man € | gue e o i 3 i) 10
30 Jgfasedia g9 € TA® Y9 11 37k H1 T | @UE - (i)
T H 10 fio WM € TS U39 1 3k F1E | T@UE W In the equation y+3 = 10 the variable is
HI0YH & TAF 2 AF HI T 1 @S- T | 10 999 & i 3 (i) 10
TIh Y99 3 37h 1 8 1 WUS-3 § A 2 YA © UAH (i) y
I 5 STF AT 3. foret SIS % T FIUT 1 AN L
Question Paper is divided into 5 sections Section A i 180° i) 360°
consists of 30 multiplicative choice question each carry i) 120°

1 mark each. Section B has 10 fill ups each carry 1 marks
each Section C has 10 question each carry 2 marks
Section D has 10 question each carry 3 marks. Section

E consists of 2 question. Each carry 5 marks.
Section-A (@US-37)

agfashedr™d U9 (Mutiple choice question)

.?maﬁwsﬁ@n%

5 9
0 W
i)

The Sum of measures of the external angles of any
polygonis

(1 180° (i) 360°
@) 120°
4. g wgds & fowol uw qE H FA T
() THREWM W= (i) Fufgt~a
(i) a7
Diagonals of a parallelogram ........... each other.

(1) perpendicular to one another
(i)  bisect each other

(i) intersect
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. 81 & A T |

i 7 i 1
@i 9

The square root of 81 is

@ 7 @ 11
@i 9

L H e s wE R

i 125 @) 15
(i) 25

The cube of 5 is

i 125 @ 15
(i) 25

IR O | R Hrex

(i) 100 @) 10
(@ii) 1000

@1 100 @) 10
(i) 1000

L T5HIT10H AUE € |

@H 1:2 @) 2
@) 1:3

The ratio between Rs 5to Rs 10 is
o 12 @) 2:1
(i) 1:3
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10.

11.

12.

. Y % = <49 x 100

?
(i) Tosra gou
(i) HAEA

Profit % = Profit x 100
?

(i) HIAH

(1  Selling Price (i) Cost Price
(@ii))  Principal

Tt ufg e fafay e w1 =gorn T&1 21

@®m o (i) 1

(i) -1

The rational number that does not have a reciprocal.
®» 0 () 1

(i) -1

T Iqds &1 T fafae fSus fawof s)er #

(i) HHEG (i) T

(i) AT

The name of quadrilateral Whose diagonals are equal
(i) Rhombus (1) Kite

(i) Rectangle

4 FAR 7 p H PEERA T |
i 28p

@) 11p

(i) 47 p
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13.

14.

15.

16.

Product of 4 and 7 p is
1 28p

@@ 11p

Xy, yz, zxﬁv‘[’j”ﬁ'%?f%l
1 2xyz

(111) xzyz 72

(i) 47p

(i) x%yz

Product of xy, yz and zx is
1 2xyz () x%yz
(111) x2y222
1+x+x2ﬁx2W{[‘3ﬁ7>ﬁ%\'l
»H 2

@) O

The co-efficient of x* in 1+x+x? is
» 2 @ 1
@) O

(i) 1

m
a
— =9
an

©H am"

@) a™
SR 93 ¢ |
(1) F+V=E+2
() F+V=E-2
Which one of the folling is Euler’s Formula
(1) F+V=E+2 (1) F-V=E+2
() F+V=E-2

(11) a m+n

(i) F-V=E+2
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17.

18.

1g.

20.

Id F 4T H YT §
1 2mr i) 2
L1
(ii1) Enr
The formula of Area of circle is
1 2mr (i) 7’
L1
(i) 7r
I B T T 4 cm § 1 59 1 3T © |
G 16.cm? (i) 8 cm?
(i) 64 cm?
Find the volume of a cube whose side is 4 cm.
i 16cm? (i) 8cm?
(i) 64 cm?
32HAFR
0 i
M
@ o
The value of 372 is
O i)
L1
@) o
a*— b* % THEE ¥
® (a=b)(a-b) i) (a+b)(a->b)

@) (a+b)(a+b)
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21.

22.

23.

24.

Factor of a? — b? is
(i) (a-b)(a-b)
@) (a+b)(a+b)
12x SR 36 1 91 TUHEE 7 |

i 6 @) 12

@ 9

Common factor of 12x and 36 is

i 6 @) 12

@ 9

o 61 IET &A%

@ 31 ) 61

(i) 617

Surface area of a cube is

@ 3l @) ol

(i) 61°

Ife TaagHs & faswol 7em 3R 12cm € @ 59T &ha
g

() 42cm? (i) 45cm?

(i) 2lcm?

If the diagonals of rhombus are 7cm and 12 cm then its
area is

() 42cm? (i) 45cm?

(i) 21cm?

Ta2+14a & TUHES T |

(1) 7a(at+7)
(i) 7a*(142)

(1) 7a(a+2)
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@@ (a+b)(a->b)

25.

26.

27.

The factors of 7a®+14a are
(1 7a(a+7)

i) 7a%(1+2)

ab-bc, be-ca, ca-ab T ITHSA 21

(1) 7a(a+2)

®» O (i) abc
(i) 2abc
Sumn of ab-bc, bc-ca and ca-ab is
®» O (i) abc
(i) 2abc
a2 x 2a%2 x 426 1 TUAHA ¢ |
i 8a*® (i) 8a’°
(i) 20a>°
The product of a% x 22 x 4a%® is
i 8a* (i) 8a>°
(i) 20a>°
L e faai
19

19 . 19
O 3 @ —3
Gi)

19
Mutiplication inverse of _1193 is
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28.

29.

30. Sfd H e e J1d HA i IRl J1d HIfeC |

19 . 19
O 3 M 5
13
@ 75
I 6x=12 T A x T AA 2 |
o 4 @@ 3
@) 2
If 6x=12 then the value of
o 4 @@ 3
@) 2
< § F gl e A
i 64 @) 81
@) 45
Which of the following is not a perfect square.
i 64 @) 81
@) 45

olofo]
oJolo]
©
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. 2 . 4
=R I

The probability of finding a red apple

(1) 2 (ii) 4 (iii)
7 7
Section - B( @Ug - B)
. T T w1
Fill in the blanks
I HTFGHH .o g
Zero has ........... receprocal

.W&:@ﬂmrn%:n TARAA ...

1x10=10

t
If an equation is 5= 12 then the value of tis............

. T oStsTl aTel! W9 9gS Bl ..

aregular Polygon of 3 sides 3 isknown as ..........

.mﬁ%ﬁ
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Reduction given on the marked price of the article is called

8. STel SATSI Sfteh GAITSd gial & d

F T A=P(+5)

Amount when Intereset is compounded annually

A=P1+ )"
( 100)

9. ) R
T
1
.
< Vertex
T
1
Edle
10. SHSH 7x - 42 & PHEETE ............. g

Factor of 7x -421is ...........
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Section C (@Us )"

. I 3l 9t 9T

Each question carry 2 marks. 2x10=20
7
" =1 g v W f&fud s

7
Represent 4 an number line.

. =20x* +10x2 =1 fgure Sifsg

Divide —20x*+10x?

. 1 Tt Igtheteh & 10 Theteh 20 fRAR &R 15 i 77

T §
Can a Polyhedron have 10 faces, 20 edges and 15 vertix?

. TUAH G TS

—4p, Tpq
Find the product of —4p, 7pq

. GIgd 7 Tk QAT IRSRET 2500 B @l AR 39

%3300 H 99 fear | 391 @y =1 g1f7 wfaerd 3a sifse

Sohan bought a second hand refrigerator for Rs 2500
and sold it for Rs 3300 Find his loss or gain Percent.

. T Al o ddT | 10% gfg Tl 8 | afg Iqah1 T

a9 1,54,000 T A1 SHET & oA F1q hITST

A man got 10% increase in his salary if his new salary is
Rs 1,54,000. Find his orginal salary

. THTHIUT HT TA HifSG

5x+z=§x—4
2 2
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10.

7 3
Sx+—=2x—4
Solve )

. 19T o @ue fafy ¥ 13824 T ST T4 HIST

Find the cube root of 13824 by Prime factorisation
method.

. Teh UQ A i SR J1d HISTT SEhT 21909 275cm?

X SR & &TFA 25cm? T

Find the height of cuboid whose volume is 275cm? and

base area is 25cm?

o ! fafy | 1369 &1 s 914 HifsQ

Find the square root of 1369 by division method
Section D @US ©

. ThI T qIA

Each question carry 3 marks 3x10=30

. T 9qds PQRS &1 Ta 1 sifST fs@® PQ=4cm QR

=6cm, Rs = 5¢m, PS = 5¢cm 3R PR = 7cm ®1
Construct a quardrilateral PQRS Where PQ=4cm QR
=5cm, RS 5¢cm, PS 5 Cm and PR=7cm.

. 10,800 W 3 9% & foq 1214% aftier <X 9 arftie &9 §

AT S W Thgl§ AT ST hiTeq
Find compound interest of Rs 10800 for 3 year at 12Y2%
per annum compounded annually
A 3R B &1 A1 9@ SifIT
12A
+6 A B

A0 9
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. & HITAT ¢

Find A and B in
12 A
+6 A B

A0 9
O +7y+10)+(y+5)
Solve : (y?+7y+10) +(y +5)

. Tk T &1 F5 T=qU 63 feT # oA & ferw 42 weiet

FT ATETIRAT St & | 31 &1 I8 54 fea § a9 &
forq wefi=r &t STavEeRar g |

A factory requires 42 machines to produces a given
number of articles in 63 days. How many machines would
be required to produce the same number of articles in
54 days.

. P(p - q), q(q — ) T r(r — p) I STST

Add P(p — q), g(q —r) and r(r — p)

. Tk oA &1 faurd 60cm x 54cm x 30cm © | 39 519

% 3T 6cm YT ATe foha B ¥4 @ S Thd ¢ |

A cuboides of dimension 60cm x 54cm x 30cm. How
many small cubes with side 6cm can be placed in the
given cube.

. 3m%4+9m+6 & TUHEE AT HiTaT

Find the factor of 3m24+9m+6

oo

. Th T 99 &l S J1d SIS et 5991 7em 3R

FA TR &% 968Cm?2 # |

Find the height of a cyclinder whose radius is 7cm and
total surface area is 986¢m?
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10.

(x+a) (x+b) = x2 + (a+b) x+ab T YA FHTh
501x 502 @1 & Y
by using identify (x+a) (x+b) = x* + (a+b) x+ab
Solve 501x 502
Section - E @Ug - (¥)
5 3T dTel J¥A

Each question carry 5 marks 2x5=10

. fr=1 fafea =1 &t < a1 T 91 =6 Eifa | aw

RO SRl o Tk 998 5N 99s foht SH arcd @
1 T 2 |

ar Al 1 W&
B!l 18
=4 9
T 6
Ll 3
eI 36

Draw a pie chart showing the following information. The
table shows the colours prefred by a group of peoples.

Colours No. of peoples
Blue 18
Green 9
Red 6
Yellow 3
Total 36
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6. T fagadl =1 amifra &re 9 sifwa +ifaw &R

e fr = 3 9l T & WA @ § § 1 3R ® a1 S
@ %1 9M ST

(0,2),(0,5),(0,6) (0,3.5)

Plot the following points and verify if they lie on a line if
they lie on a line name it.

(0,2)(0,5) (0,6) (0, 3.5)
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